

بازرسی

تکلیف

محمد امین معصوم

$$y = \frac{n+2}{(n-1)(2n^2+5n-2)} = \frac{n+2}{2(n-1)(n+\frac{7}{2})(n-\frac{1}{2})} \Rightarrow D \in \mathbb{R} - \{1, -2, \frac{1}{2}\} \quad (الف) \quad 1$$

$$y = \frac{n+2}{(n+1)(2n^2+7n+2)} = \frac{n+2}{2(n+1)(n+\frac{7}{2})(n+\frac{1}{2})} \Rightarrow D \in \mathbb{R} - \{-1, -2, -\frac{1}{2}\} \quad (ب) \quad 1$$

$$y = \frac{n+2}{n^2-2n^2+2n-1} = \frac{n+2}{(n-1)(n^2-2n+1)} \Rightarrow D = \mathbb{R} - \{1\} \quad (ج) \quad 2$$

~~$\Delta < 0 \Rightarrow$~~ ~~ریشه ها~~

$$y = \sqrt{\frac{n+2}{(n-1)(n^2+n+1)}} + \frac{-2}{1} + \frac{1}{1} + \frac{n+2}{(n-1)(n^2+n+1)} \geq 0 \Rightarrow D \in (-\infty, -\frac{1}{2}] \cup (1, +\infty) \quad (د) \quad 1$$

$\Delta < 0, a > 0 \Rightarrow$ ~~ریشه ها~~

$$n^2 - \infty |n-1| - 2n+2 \neq 0$$

$\frac{n^2+2n}{n(n+2)} \downarrow n \neq -2$

$\frac{n^2-2n+1}{(n-1)(n-1)} \downarrow n \neq 1$

$\Delta < 0 \Rightarrow$ ~~ریشه ها~~

$$\Rightarrow D \in \mathbb{R} - \{-2, 0, 2, \infty\}$$

$$|2n+1| - |n+2| \neq 0 \Rightarrow |2n+1| \neq |n+2| \Rightarrow (2n+1)^2 \neq (n+2)^2 \Rightarrow 4n^2+4n+1 \neq n^2+4n+4$$

$$\Rightarrow 3n^2-2n-3 \neq 0 \quad \Delta = (-2)^2 - 4(-1)(-3) = 10 \Rightarrow n = \frac{2 \pm \sqrt{10}}{6} \Rightarrow n < -\frac{1}{3} \quad (الف) \quad 4$$

$$\Rightarrow 2(n-1)(n+\frac{1}{2}) \neq 0 \Rightarrow D = \mathbb{R} - \{-\frac{1}{2}, 2\}$$

$$|2n+1| - |n+2| \geq 0 \Rightarrow |2n+1| \geq |n+2| \Rightarrow (2n+1)^2 \geq (n+2)^2 \Rightarrow 4n^2+4n+1 \geq n^2+4n+4$$

$$\Rightarrow 3n^2-2n-3 \geq 0 \quad \Delta = (-2)^2 - 4(-1)(-3) = 10 \Rightarrow n = \frac{2 \pm \sqrt{10}}{6} \Rightarrow n < -\frac{1}{3} \quad (ب) \quad 4$$

$$-\frac{1}{3} \leq n \leq \frac{1}{3} \Rightarrow D \in (-\infty, -\frac{1}{3}] \cup [\frac{1}{3}, +\infty)$$

$$1 - \log_2 n > 0 \Rightarrow \log_2 n < 1 \Rightarrow n < 2 \quad (الف) \quad 5$$

$$n > 1 \quad (ب) \quad 5$$

$$\underline{(أ) \cap (ب)} \Rightarrow D \in (1, 2)$$

$$1 - \log_2 \frac{1}{n} > 0 \Rightarrow \log_2 \frac{1}{n} < 1 \Rightarrow n > \frac{1}{2} \quad (الف) \quad 5$$

$$n > 1 \quad (ب) \quad 5$$

$$\underline{(أ) \cap (ب)} \Rightarrow D \in (1, +\infty)$$

$$\log_a^n > 0 \Rightarrow r_{n-1} > 1 \Rightarrow n > 1 \quad \textcircled{1}$$

$$r_{n-1} > 0 \Rightarrow n > \frac{1}{r} \quad \textcircled{2}$$

$$\log_a \log_a^{(r_{n-1})} > 0 \Rightarrow \log_a^{(r_{n-1})} \leq 1 \Rightarrow r_{n-1} \leq a \Rightarrow n \leq r \quad \textcircled{3}$$

$$\textcircled{1} \cap \textcircled{2} \cap \textcircled{3} \Rightarrow D_f \in (1, r]$$

$$r \cos n + 1 > 0 \Rightarrow r \cos n > -1 \Rightarrow \cos n > -\frac{1}{r} \Rightarrow D \in (2k\pi - \frac{\pi}{r}, 2k\pi + \frac{\pi}{r}) \quad \text{الف}$$

$$\log \frac{n-1}{n+1} > 0 \Rightarrow \frac{n-1}{n+1} > 1 \Rightarrow 1 - \frac{r}{n+1} > 1 \Rightarrow -\frac{r}{n+1} > 0 \Rightarrow \frac{r}{n+1} < 0 \Rightarrow n+1 < 0 \Rightarrow n < -1 \quad \textcircled{1}$$

$$\frac{n-1}{n+1} > 0 \Rightarrow \frac{-1}{+3} - \frac{1}{+1} \quad n \in (-\infty, -1) \cup (1, +\infty) \quad \textcircled{2} \cap \textcircled{3} \Rightarrow D \in (-\infty, -1)$$

$$\begin{aligned} \text{عبارت اول} &\Rightarrow \text{عبارت دوم} \Rightarrow a + r = 0 \Rightarrow a = -r \Rightarrow f(n) = \sqrt{-rn + b} \\ \text{داده شده} &\quad \text{مثال} \end{aligned}$$

$$f(r) = 0 \Rightarrow \sqrt{-r(r) + b} = \sqrt{-r + b} = 0 \Rightarrow b = r$$

$$\begin{aligned} \cancel{2(n-1)^2 + 2(n-1) + 1} \quad n^2 + 2n + 2 - m^2 &\geq 0 \Rightarrow n^2 + 2n + 1 + 1 - m^2 \geq 0 \\ \Rightarrow (n+1)^2 + 1 - m^2 &\geq 0 \Rightarrow m^2 \leq (n+1)^2 + 1 \xrightarrow{(n+1)^2 + 1 \geq 2} m^2 \leq r \Rightarrow -\sqrt{r} \leq m \leq \sqrt{r} \\ \sqrt{r} - (-\sqrt{r}) &= \sqrt{r} + \sqrt{r} = 2\sqrt{r} \end{aligned}$$

$$r - n^2 \geq 0 \Rightarrow n^2 \leq r \Rightarrow -r \leq n \leq r \quad \textcircled{1}$$

$$[n] + [-n] + 1 \neq 0 \Rightarrow [n] + [-n] \neq -1 \Rightarrow n \in \mathbb{Z} \quad \textcircled{2}$$

$$\text{نتیجه} \rightarrow n \in \mathbb{Z} \quad \textcircled{3}$$

$$\textcircled{1} \cap \textcircled{2} \cap \textcircled{3} \Rightarrow n \in \{-r, -1, 0, 1, r\} \rightarrow \text{مجموعه}$$